Sig Figs, Metric Prefixes, and Unit Conversions
I. Significant Digits
A. How many sig digs in each of the following?
1. 1425

6. 1.63

11. 3.7 ×107

16. 26

2. 281.600
7. 0.03

12. 23.011010

17. 87.00

3. 281.60

8. 0.0086
13. 2050

18. 8700.

4. 28160

9. 236

14. 30010

19. 87

5. 28160.

10. 2700
15. 0.00520

20. 40000

B. Solve the following problems and give the answer in the correct number of significant digits.

1. 1.0 × 3.56

4. (1.0334)(456)

7. (3.33) × (3)

2. 9.84 / 3.276

5. (.00250)(3.01)

8. (5.65 × 10-5) × (1.77×104)

3. (6.58 × 10-3) × 3.7
6. (9.99) / 3


9. 6 × 3

C. Solve the following problems and give the answer in the correct number of significant digits.

1. 1.0 + 3.56

4. (1.0334) - (456)

7. (3.33) + 7.1
2. 9.84 – 3.276

5. (.00250) + (3.01)

8. (5.65 × 105) + (1.77 ×104)

3. (6.58 × 10-3) + 3.7
6. 1.00261 + 3.001

9. 5.19 + 5.21

II. Unit conversion:
A. Convert each of the following quantities into the unit shown.
1. 25km into m



5. 200 Ms into ks (s=seconds)

2. .015m into cm



6. 123 .45 mL into L

3. 9.56 g into kg



7. 3.4 x 10-3 km into m
4. 7.3 x 1013 µg into g


8. .76 kg into cg
	1.
	5.

	2.
	6.

	3.
	7.

	4.
	8.


B. Use the following equalities to make the conversions below. Start with what you want and then use the equalities to make a funny form of one.

32 glops = 2.9 blahs = .0125 quags = 8.5 x 105  wops 
1. 1 glop = _______ quags?

4. 29 blahs = _______ glops? 

2. 1 quag = ________ wops?

5. 37000 wops =_______ blahs?
3. .184 blahs= ________ quags?

6. 1 x 1015 wops _______ quags?
	1.
	4.

	2.
	5.

	3.
	6.


C. Convert 1 Mm into each of the following units. Use the answer to begin the next box.
1Mm = ______ km = _________ cm = _______ mm=________ µm
	1 Mm
	         cm

	         km
	         mm


